€ sB1/1BPS EXAM {7

arc? Questions Tgaed
Data Interpretation 3%

(Basic To Advance )

- - anenaras
gmmmlgpormmms'? suasclBED ‘ Youtube Channel Do Like, Share & Comment



https://t.me/mathsbyanjan
https://www.facebook.com/mathsbyanjan/
https://twitter.com/mathsbyanjan
https://www.instagram.com/mathsbyanjan

The bar graph shows the total number of male and female lives in four different towns
and table shows the number of males and females whose ages are above 40 years.
Read the data carefully and answer the questions below:
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Find the average number of those males and females whose ages are below and equals

to 40 years of town A, C and D. ; . .
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Find the ratio of those number of males and females whose ages are above 40 years in
town A and B to those males and females whose ages are below and equals to 40 years

in town D.
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If 40% of population in town B whose ages are below and equals to 40 years are male
and 40% of population in town D whose ages are below and equals to 40 years are
female. Find the difference between the females of fown B and D whose ages are below

and equals to 40 years.
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Number of males and females in town A whose ages are below and equals to 40 years is
what percent less than those number of males and females in town D whose ages are

below and equals to 40 years. .
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Study the graph carefully to answer the questions that follows:

Quantity of wheat (in thousands tonnes) exported by three companies over the year.
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What is the percentage increase in the export of company C from 2004 to 2008?
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Total export of company A for all the year is approximately what percent of the total

%)a(#ort of company B for all the years? .
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Percent rise in the exports from the previous years was the maximum in which year of the

compca:l_:{ B? . ' .
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What is the average export of the company B for all the years?

Tt asf & faT Fuy B &1 3itaa AaTa Fa7 82
1.766.67 2. 667.14 3.657.14 4. 756.57 5.576 .41

1000

o

500 ompany A
=—=Compny B

0 —=Company C

700

8

g

&%‘N

2002 2003 2004 2005 2006 2007 2008

B
8

S

3

Quantity of Wheat (Thousand Tonnes)

3

o

. : Mahendras QO
g Plemmlgpormm? SUBSC|BED ‘ Youtube Channel Do Like, Share & Comment


https://t.me/mathsbyanjan
https://www.facebook.com/mathsbyanjan/
https://twitter.com/mathsbyanjan
https://www.instagram.com/mathsbyanjan

What is the ratio between total export of the three companies in 2003 and 2006
respectively?
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In class of 80 students the girls and the boys
are in the ratio of 3:5. The students can speak
only Hindi or only English or both Hindi and
English. The number of the boys and the
number of the girls who can speak only Hindi
is equal and each of them is 40% of the total
number of the girls. 10% of the girls can speak
both the languages and 50% of the boys can

speak only English.
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How many girls do not speak only English?
frae agé»-m $ad misf? T8l Sl 87
1.12 2. 29 3.18 4.15 5. None of these
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How many boys can speak either only Hindi or only English?
fordet og% Fad RSl AT had HAs AT THd 872
1.25 2. 38 3. 41 4. 29 5. None of these
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In all how many boys do not speak Hindi?
T & Trae oEd R a8t avd §7

1.12 2.9 3.25 4, Data Inadequate 5. None of these
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What is the percentage of all the students who do not speak only Hindi?
haa &l S aret st oEt &1 gfaera #ar g7
1.24 2.40 3. 50 4. 29 5. None of these
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